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printf("%d¥n",data[0]);

printf("%d¥n”,data[11); | [torim0: i=10- i+t
printf("%d¥n",data[2]); Org ; 1<10; i++)

.[.)lrintf("%d¥n",data[3]); ":i printf("%d¥n",d/ata[i]);
printf("%d¥n",data[9]); ¥
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/*BRFERAHLUEER print_array.c AV NERE >/
#include<stdio.h>

/* RHOOEE */
#define SIZE 10 /> BRHDEZRH */

int main()
{
int i;/* JL—ThH e8>/
int data[SIZE]; /* T—3%&hd HE5I */

/* T—EDMEAAE *~/
data[0]=0;
data[1]=1;
data[2]=2;

/* RIZEL */

data[3]=3;
data[4]=4;
data[5]=5;
data[6]=6;
data[7]=7;
data[8]=8;
data[9]=9;

/* BIDFREFDRT */
for(i=0; I<SIZE; i++)
{

}

return O;

printf("data[%2d]=%2d¥n",i,data[i]);
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scanf("%d", &data[0]); | |for(i=0; i<10; i++)
scanf("%d", &data[1]); b {
scanf("%d", &data[2]); 1_> scanf("%d", &data[i]);
scanf("%d", &data[3]); }

scanf("%d", &data[9]);

g2
/*ERFHI~DT—21EHMEER scan_array.c A RERE
*/

#include<stdio.h>

/* ROOFE >/
#define SIZE 3 /* BRAIDEZRL */

int main()
{
int i;/* JL—ThHo e8>/
int data[SIZE]; /* T—3%&#hd HE5I */

/* RITERLS >/
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/* T—3DAH >/
for(i=0; I<SIZE; i++)
{

}

/* BIDHEDRT */
for(i=0; I<SIZE; i++)

scanf("%d", &data[i]);

{
printf(""data[%2d]=%2d¥n",i,data[i]);
b
return O;
s
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C, =8,+0h c=a +b

C,=a,+h @ (i=12,..,n-1)

Cn—l — an—1 + bn—l
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/*ROMLDORELE add_vector.c OAVNERE >/
#include<stdio.h>

/* XOUOFE */
#define SIZE 3 /* BEHDEHRL */

int main()

{
int i;/* JL—Tho2a*/
double vector_a[SIZE]; /* AAXRYk)La */
double vector b[SIZE]; /* AAXRTKILD */
double vector c[SIZE]; /* RUkJLDFc=a+b */

/* RITERLS >/
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/* ROMVDRDD AR >/
printf("~UkJ)Laz AL TTEL¥Nn");
for(i=0; I<SIZE; i++)

{

¥
printf ("YU kJILbZE A AL TTEL¥N");
for(i=0; I<SIZE; i++)

{

¥
/* RIZEES >/

scanf("%lf", &vector_a[i]);

scanf("%lf", &vector_bl[i]);
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/* RORLDRELE */
for(i=0; I<SIZE; i++)
{

b
/* $FERDOERT */
for(i=0; I<SIZE; i++)
{

}

return O;

vector_c[i]=vector_a[i]+vector_Db[i];

printf("c[%d]=%6.2f%¥n",i,vector_cJi]);
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#include <stdio.h>

/*ROAFE>/
#define DATANUM 1000 /* T—%{E%®D LR */
int main()
{ /I~ ZE¥ES */
int n; /* T—4% */
int i /* =T HhHo R, B|data®iiFE */
double ave; /* T—2DEHE */

double sum; /* T30 */
double data[DATANUM]; /*T—%% AN5E5I*/

I*T—38DAH*/
printf("7—42#Zx A AL TTFELY, ¥n™);
printf(""n= ?¥n");
scanf("%d", &n);

/> ROR—=D[HES */
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[*T—3EnDF o>/
if(n<=0)
{
/* REBAR:T—E2EHOLUT */
printf(" 7 —2HEND T 13, ¥n");
return -1;

b5
/* TNUETIX nIXIEDEEH*/
if(h=DATANUM)
{
/* REBAN: ERA—/N—*/
printf("7—42MZ3EFET, ¥n");
return -1;

¥

/* THLUETIE, niZ1 HSDATANUMZE T B #>/
/* ROR—D(ZHEC >/

/* BEANDSEFINT —FEFHAHAL/
for(i=0; i<n; i++)
{
/* NEOEHT—E2DOAN */
printf("data[%d] = ?", i);
scanf("%lf", &datali]);
¥

/[  ROR=DITHS >/

18




2000 FEE O

TEEEH

Jdl
n
\

SE8EIFRYRLIT (FEYRLIGH)

/* DR */
/* MEARE */
sum=0.0;
for(i=0; i<n; i++)

{
sum = sum-+data[i];

}

/*EHDEE */
ave = sum/(double)n;

/*FEHEDH 1>/
printf("EHEIE %6.2fTT, ¥n", ave);
return O;
s
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$make
gcc average.c -0 average
$ ./average
?_gﬁékjj L/-C-Féll\o
n= 7
3

data[O]= ?4.0
data[1l]= ?2.0
data[2]= ?-3.0
TfEX 1.00 TY,
$
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$./average
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